_.‘“‘|_ SICO AMERICA INC.

7525 Cahill Road

E I l D Minneapolis, MN 55439, USA

Customer Service: 1-800-424-0796

I \/\/ebsite: www.sicoinc.com

2800 TABLE

Operating Instructions and Parts List

Folded for storage.

Used as seat with backrest

Used as table with bench.

TO BE USED AS SEAT AND BACKREST:

®

Grasp seat at the center.

Rotate seat down.

Seat with backrest is ready.

TO BE USED AS TABLE WITH B

®

Grasp the backrest at lower center.

Pull up and rotate backwards.

Push away from you until the top locks.

TO UNLOCK TOP:

Pull up top, vertically, about 1/2 inch.

Pull toward you horizontally.

®

Rotate top down.

NOTE: DO NOT tighten bolts and nuts at pivot points and slides.
Maintenance: Lubricate pivot points twice a year.

Printed in the USA  12-12

Part No. 000752 Rev. E



http://www.sicoinc.com

IMPORTANT:
Please include Serial

Number of table when
ordering parts.

NOTE:
Installation requires
two 9/16™ wrenches

SICO MODEL 2800 CONVERTIBLE BENCH TABLE

Component Parts List

©O~NOUAWNERE I
[0
A
Z
o

o el e
©CoOooOMWN

Description

Chassis Weldment

Clamp

Leg Weldment

Caster Beam

Top Leveler

Leg Leveler

Top Frame Weldment

Top

Bench

3/8-24 x 1-1/4” Cap Screw
3/8-24 x 1-3/4” Cap Screw
3/8-24 x 2" Cap Screw
3/8-24 x 2-1/2" Cap Screw
3/8-24 Stop Nut

3/8-24 Jam Nut

Ref No.
20
21
25
27
29
30
32
33
34
35
50
51
52
53

Description

Nut Stop M10 x 1.5 x 25mm
3/8-16 Stop Nut

Washer FL 0.41 x 0.82 x0.06
Screw CHH M10 x 1.5 x 25mm
Square Tube Cap Plug 1”
Plug Round 1.25 x 14ga
Rivet Drive

1-1/4” Glide, Black

3" Swivel Caster (locking)

3” Swivel Caster

Flexible Latch Assembly
Keeper Assembly

Screw M5-0.8x25mm

Nut M5 x 0.8




